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p=00128

STHEDL (Mann-Whitney U test) 5 271+2 459/ ({n = 24)
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0 1,000 2,000 3,000 4,000 (M)
2{F | 1,756+2 313 (n = 54
®—2 EEER*
0 1,000 2,000 3,000 4000 (M) (EESFEIFRPAATEH
=i ] 1,973+2.302MH{n =17)
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0 1,000 2,000 3,000 4,000 {F3)
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©®—4 MER &35
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: p=0.2933
3T (Mann-Whitney U test) 1 604+2 126/ (n = 49)
®—5 DPCHI
0 1,000 2,000 3,000 4000 (F9>
orC | p < 0.0001 3086 (n =21)
- (Mann-Whitney U test)
JEDPC | 2 855+2 377Mn =33
®—6 SHERE
0 1,000 2,000 3,000 4,000 (M)
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i p > 0.9999

SHELL

(Mann-Whitney U test) 1,756i2‘313|1§]{n = 54>
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! Il I

2% —J © 3,191£1,996M(n =30

@D—2 ERER*

0 1,000 2,000 3,000 2,000 () CGiEMEREL PRI
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mEp 9940/ (n =1
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R | | 3,433+1,950/(n = 20)

p = 0.4810 (Mann-Whitney U test)

JFEETHSE - 2,707£2.103™{n =10}

@D—4 Mk &EH
0 1,000 2,000 3,000 4,000 (M3

i

Hhtgichty p = 0.0449 ! 1.517£1,2815(n = 5)
(Mann-Whitney U test)
FL3T . 3,626%1,960™H{n = 25)
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0 1,000 2,000 3,000 4000 (FH>
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@—6 BHERE
0 1,000 2,000 3,000 4,000 (4>
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p = 0.4674 (Mann-Whitney U test)

SHEDL 0 3.033x2.175MH(n =243
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0 2,000 4,000 (>

i Il L
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JFERThER (Mann-Whitney U test) 2 893+1,918(n = 10)

0 2,000 4,000 =}
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Hidskepi

TAIL 46657607 (n = 25}

i—5 DPCHI
0 2,000 4,000 =P

p =0.0488 6761428 (n = 3}
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0 2,000 4,000 =)
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(7) BRI LB
I1.[BR-B#% — O BHEvs. FERHE FFfirdnY JEEH
s JEHTHER
R B (n=20) (n’=10) il
A EHE
i 70.6+14.35% 74.9+10.85% 0.6920
PR B 9(45%) 6(60%) 0.6999
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EFEBO—K F—K 2(10%) 0(0%)
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BRRE 0(0%) 0(0%)
C. EEE
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e 41+28M 386808 0.0049
5 1,062+473 4,665+7,6071] 0.0549
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p = 0.0083 (Mann-Whitney U test)
2.678%£1,140MHn = 24)

_57_

- —



[E] B BECRBR 7 — 2\ XD FHF o0 HUlls 75 [ I ] ge— (6) ABBIGRIEE O WK

®—1 I (Firr LEHD
o 50 100 =
2{F ' | ' T7£96M(n =37
®—2 ERER*
0 50 100 (> GEHEREIIRPRPTEH
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